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Übung 1: Ziehe die Kubikwurzel: 
 

3√ 64 = _________________             3√ 729 = _________________ 

3√ 512 = _________________            3√ 8 = _________________ 

3√ 1 000 = _________________         3√ 216 = _________________ 

3√ 125 = _________________            3√ 343 = _________________ 

3√ 27 = _________________             3√ 1 331 = _________________ 

 

Übung 2: Ziehe die Kubikwurzel: 
 

3√ 64 000= ___________________         3√ 0,729 = _________________ 

3√ 0,000 512= _________________       3√ 21 600 = _________________ 

3√ 0,001 = ____________________        3√ 0,000 008 = _________________ 

3√ 343 000 000 = _______________        3√ 1,331 = _________________ 

3√ 0,125 = _____________________       3√ 27 000 = _________________ 
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